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Question 1 (12 Marks)
(a)  Simplify 248 -+18.

®) If f£=a+b\/§ . find g and b.
+ |

¥ -22-3 x* =25
x*-4x-5 (x-—3)(x+5)'

(c) Simplify

(d)  Find the simultaneous solution to the equations: 2x = 3y+1 and xy+x+y=23.

Question2 (12 Marks)  Start a new page
(a) Factorise

(i) y* -125.

G)  1+x+x?+x’.

(b}  Solve
(i) 2x? =T7x-5.
G  ZPsa
x+4

iy  |J4x+321.

©  Given f{x)=2(x- x)
() Find f(-x).

(i)  Show whether f(x) is odd, even or neither.

Question3 (12 Marks)  Start a new page
(a) Draw a neat sketch of each of the graphs below.

@ y==
X
.. 1
W =3
1
(i) y~4+;T3.

by (i) Find the domain and range for the function f(x) =49-x*. |
(iii)  Sketch the region indicated by y 29 -x" .

()  Solve |x+1-[2x-1/<0.
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